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THE INTERNATIONAL FESTIVAL OF MATHEMATICS AND COMPUTER SCIENCE

MATHEMATICS COMPETITION - INDIVIDUAL
Subjects
8th Grade
1. Determine  
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 so that:

[image: image2.wmf]564155

...

2

156167145

n

nn

++

+++=

++++++++

.

2. On the plane of the rombus it is raised the perpendiculary  
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Consider 
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the middle of the segment 
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 and 
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 the middle of the segment 
[image: image7.wmf]AD

.
a. Find the point 
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 equally distanced from the points 
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b. Calculate the sine of the angle formed by the planes 
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3. Consider
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 and 
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Demonstrate that 
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 has an infinity of elements for  
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4. Consider the tetrahedron 
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, the points  
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 on the same side of the plane 
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 as 
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, so that 
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 are perpendiculary on the plane 
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a. Determine the point 
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 so that  
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b. Considering similarly 
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 for which 
[image: image27.wmf]00

,

NFPFNFPFFCD

+£+"Î

 and  
[image: image28.wmf]00

,

PGMGPGMGGBD

+£+"Î

, show that the straight lines  
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 are  intersecting lines.
Notă: 
1. All the subjects are compulsory


2. Time of work 3 hours.
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